Houssoy

Ferme chateau dans Calculs
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Curseur : 20/02/2012 14:34:28 - 14:34:29 LAeq=66.9 dB LCcréte=87.6 dB

Ferme chateau dans Calculs

Nom Début Durée | LAeq
écoulée | [dB]
Total 20/02/2012 14:12:20 | 0:29:54 | 43.6
non marqué | 20/02/2012 14:12:20 | 0:29:54 | 43.6

Ferme chéateau dans Calculs

% Basé sur LAeq, 1s Intervalle de classe : 1.0 dB 20/02/2012 14:12:20 - 14:42:14 Total

100 L1

[ : : : : : 3 L5
I e e T ——e- L10

Lo : : : i : : L50
L90
L95
L99

58.3dB
42.2dB
34.8dB
27.7dB
254dB
25.0dB
24.2dB

80

70
60
50 -
40+
30-
20

10

0

20 30 40 50 60 70 80 90 100 dB
——- Niveau ——— Cumulative

Curseur : [26.0 ; 27.0[ dB Niveau: 19.8% Cumulative: 81.4%




